Volume 39, Issue 2, Page 63-71, 2024; Article no.JAMCS. 111877
ISSN: 2456-9968
(Past name: British Journal of Mathematics \& Computer Science, Past ISSN: 2231-0851)

# Resolution of the Standard Telegraph Equation by the Laplace-Adomian Method <br> MINOUNGOU Youssouf ${ }^{\text {a }}$, BAGAYOGO Moussa ${ }^{\text {b }}$ and PARE Youssouf ${ }^{b}$ <br> ${ }^{\text {a }}$ Ecole Normale Supérieure (ENS), Burkina Faso. <br> ${ }^{\text {b }}$ Université Joseph Ki-Zerbo (UJKZ), Burkina Faso. <br> Authors' contributions 

This work was carried out in collaboration among all authors. All authors read and approved the final manuscript.

Article Information
DOI: 10.9734/JAMCS/2024/v39i21868
Open Peer Review History:
This journal follows the Advanced Open Peer Review policy. Identity of the Reviewers, Editor(s) and additional Reviewers, peer review comments, different versions of the manuscript, comments of the editors, etc are available here: http://www.sdiarticle5.com/review-history/111877

## Original Research Article

Received: 25/11/2023
Accepted: 30/01/2024
Published: 13/02/2024


#### Abstract

In this paper, we resarch the solution of the standard telegraph equation by the Laplace-Adomian method. The Laplace-Adomian method is based on the combination of Laplace transform and the Adomian decompositionnal method.


Keywords: Telegraph equation; Laplace transform; ADM method.
AMS Subjet Classification: 47H14, 34G20, 47J25, 65J15.

[^0]
## 1 Introduction

In this article, we study the general solution of the standard telegraph equations by the method of LaplaceAdomian. The standard telegraph equation is an important equation arises in the propagation of electrical signals along a telegraph line, taking into consideration the inductance, capacitance and conductance of the cable $[1,2,3,4]$. However the method of Laplace-Adomian is a numerical method based on the combination of the Laplace Transform and Adomian decompositionnal method [5, 6, 2].

## 2 The numerical Laplace-Adomian method

The standard telegraph equation is a partial differential equation given by [2] :

$$
\frac{\partial^{2} u}{\partial x^{2}}=\alpha \frac{\partial^{2} u}{\partial t^{2}}+\beta \frac{\partial u}{\partial t}+\gamma u
$$

where $u=u(t, x)$ is the resistance, and $\alpha, \beta$ and $\gamma$ are constants related to the inductance, capacitance and conductance of the cable respectively.

Let us consider the following functional equation:

$$
\left\{\begin{align*}
\frac{\partial^{2} u}{\partial x^{2}} & =\alpha \frac{\partial^{2} u}{\partial t^{2}}+\beta \frac{\partial u}{\partial t}+\gamma u  \tag{1}\\
u(t, 0) & =f(t) \\
\frac{\partial u}{\partial x}(t, 0) & =g(t) \\
u(0, x) & =h(x) \\
\frac{\partial u}{\partial t}(0, x) & =v(x)
\end{align*}\right.
$$

Taking $L u=\frac{\partial^{2} u}{\partial x^{2}}$ and $R u=\alpha \frac{\partial^{2} u}{\partial t^{2}}+\beta \frac{\partial u}{\partial t}+\gamma u$
We have :

$$
\begin{equation*}
L u=R u \tag{2}
\end{equation*}
$$

Where $L$ is an invertible operator in the Adomian sense and $R$ the linear remainder.
Applying the laplace transform to the equation (1), we obtain :

$$
\begin{gather*}
\mathcal{L}_{x}(L u)=\mathcal{L}_{x}(R u) \Leftrightarrow p^{2} \mathcal{L}_{x}(u)-p u(t, 0)-\frac{\partial u}{\partial x}(t, 0)=\mathcal{L}_{x}(R u)  \tag{3}\\
p^{2} \mathcal{L}_{x}(u)=p f(t)+g(t)+\mathcal{L}_{x}(R u) \tag{4}
\end{gather*}
$$

Using the decomposition series for the linear term $u(t, x)$ gives

$$
\begin{equation*}
p^{2} \sum_{n \geq 0} \mathcal{L}_{x}\left(u_{n}\right)=p f(t)+g(t)+\sum_{n \geq 0} \mathcal{L}_{x}\left(R u_{n}\right) \tag{5}
\end{equation*}
$$

This yields the following Adomian algorithm:

$$
\left\{\begin{array}{l}
p^{2} \mathcal{L}_{x}\left(u_{0}\right)=p f(t)+g(t)  \tag{6}\\
p^{2} \mathcal{L}_{x}\left(u_{n+1}\right)=\mathcal{L}_{x}\left(R u_{n}\right) ; n \geq 0
\end{array}\right.
$$

Applying the laplace transform to the equation (2), we obtain :

$$
\left\{\begin{array}{l}
u_{0}(t, x)=\mathcal{L}_{x}^{-1}\left[\frac{1}{p^{2}}(p f(t)+g(t))\right]  \tag{7}\\
u_{n+1}(t, x)=\mathcal{L}_{x}^{-1}\left[\frac{1}{p^{2}} \mathcal{L}_{x}\left(R u_{n}\right)\right] ; n \geq 0
\end{array}\right.
$$

## 3 Algorithm of Laplace - ADM Convergence's

Considering the equation (1)

$$
\left\{\begin{aligned}
\frac{\partial^{2} u}{\partial x^{2}} & =\alpha \frac{\partial^{2} u}{\partial t^{2}}+\beta \frac{\partial u}{\partial t}+\gamma u \\
u(t, 0) & =f(t) \\
\frac{\partial u}{\partial x}(t, 0) & =g(t) \\
u(0, x) & =h(x) \\
\frac{\partial u}{\partial t}(0, x) & =v(x)
\end{aligned}\right.
$$

With $(t, x) \in \Omega$ where $\Omega=[0 ;+\infty[\times[a, b]$
The application of the Laplace-ADM method gives

$$
\left\{\begin{array}{l}
u_{0}(t, x)=\mathcal{L}_{x}^{-1}\left[\frac{1}{p^{2}}(p f(t)+g(t))\right] \\
u_{n+1}(t, x)=\mathcal{L}_{x}^{-1}\left[\frac{1}{p^{2}} \mathcal{L}_{x}\left(R u_{n}\right)\right] ; n \geq 0
\end{array}\right.
$$

Let us suppose :

- $\left(H_{1}\right)$
$f$ is continuous then there is a real $M$ so that

$$
|f(t)| \leq M \text { for all } t \in[0, T]
$$

- $\left(H_{2}\right)$
$g$ is continuous then there is a real $M$ so that

$$
|g(t)| \leq M^{\prime} \text { for all } t \in[0, T]
$$

## However

$R$ the linear remainder is continuous then there is a real $\lambda>0$ so that

$$
\|R u\| \leq \lambda\|u\|
$$

Indeed, we have :
$\begin{cases}\left|u_{0}\right| & =\left|\mathcal{L}_{x}^{-1}\left[\frac{f(t)}{p}\right]+\mathcal{L}_{x}^{-1}\left[\frac{g(t)}{p^{2}}\right]\right| \\ \ldots & \ldots \\ \left|u_{n}\right| & =\left|\mathcal{L}_{x}^{-1}\left[\frac{\mathcal{L}_{t}\left(R u_{n-1}\right)}{p}\right]\right| ; n \geq 1\end{cases}$
There is a real $x_{0} \in \mathbb{R}_{*}^{+}$so that $\Re e(p)>x_{0}$, we deduce the following system :
$\left\{\begin{array}{l}\left|u_{0}\right| \leq\left|\mathcal{L}_{x}^{-1}\left[\frac{f(t)}{p}\right]\right|+\left|\mathcal{L}_{x}^{-1}\left[\frac{g(t)}{p^{2}}\right]\right| \\ \ldots \\ \cdots \\ \left|u_{n}\right|\end{array}\right] \quad \mathcal{L}_{x}^{-1}\left[\frac{\left|R u_{n-1}\right|}{\left|p^{2}\right|}\right] ; n \geq 1, ~ l$
$\Rightarrow\left\{\begin{array}{lll}\left|u_{0}\right| & \leq & M+M^{\prime} b \\ \cdots & \cdots & \cdots \\ \left|u_{n}\right| & \leq & \mathcal{L}_{x}^{-1}\left[\frac{\mathcal{L}_{x}\left(\left|R u_{n-1}\right|\right)}{x_{0}^{2}}\right] ; n \geq 1\end{array}\right.$
$\Rightarrow \begin{cases}\left|u_{0}\right| & \leq M+M^{\prime} b \\ \cdots & \cdots \\ \left|u_{n}\right| & \leq \\ x_{0}^{2} & 1 \\ \mathcal{L}_{x}^{-1}\left[\mathcal{L}_{x}\left(\left|R u_{n-1}^{1}\right|\right)\right] ; n \geq 1\end{cases}$
$\Rightarrow\left\{\left.\begin{array}{l}\left|u_{0}\right| \leq M+M^{\prime} b \\ \cdots \\ \cdots \\ \left|u_{n}\right| \leq \\ \hline x_{0}^{2}\end{array}\left|u_{n-1}^{1}\right| \right\rvert\, ; n \geq 1\right.$

Step by step, we deduce :
$\Rightarrow \begin{cases}\left|u_{0}\right| & \leq M+M^{\prime} b \\ \cdots & \cdots \\ \left|u_{n}\right| & \leq\left(\frac{\lambda}{x_{0}^{2}}\right)^{n}\left(M+M^{\prime} b\right) ; n \geq 1\end{cases}$
With $\frac{\lambda}{x_{0}^{2}}<1$ and $x_{0} \neq \sqrt{\lambda}$, we obtain

$$
\Rightarrow \begin{cases}\left|u_{0}\right| & \leq M+M^{\prime} b \\ \cdots & \cdots \\ \sum_{n \geq 0}\left|u_{n}\right| & \leq \frac{\left(M+M^{\prime} b\right) x_{0}^{2}}{x_{0}^{2}-\lambda}\end{cases}
$$

Then the series $\sum_{n \geq 0} u_{n}$ is convergent, therefore this algorithm is convergent.

## 4 Applications

### 4.1 Example : wave equation of microstrip antenna

In this example, we study the standard linear telegraph equation presented in wave equation of microstrip antenna equation is given as [7]

$$
\left\{\begin{aligned}
\frac{\partial^{2} u}{\partial x^{2}}+\frac{\partial^{2} u}{\partial t^{2}}+2 \frac{\partial u}{\partial t}-u & =0 \\
\frac{\partial u}{\partial x}(t, 0) & =e^{-2 t} \\
u(t, 0) & =e^{-2 t}
\end{aligned}\right.
$$

Taking $L u=\frac{\partial^{2} u}{\partial x^{2}}, R u=-\frac{\partial^{2} u}{\partial t^{2}}-2 \frac{\partial u}{\partial t}+u$.
Where $L$ is an invertible operator in the Adomian sense and $R$ the linear remainder.
Applying the laplace transform to the equation (2), we obtain :

$$
\begin{equation*}
\mathcal{L}_{x}(L u)=\mathcal{L}_{x}(R u) \tag{8}
\end{equation*}
$$

$\Longleftrightarrow$

$$
\begin{gather*}
p^{2} \mathcal{L}_{x}(u)-p u(t, 0)-\frac{\partial u}{\partial x}(t, 0)=\mathcal{L}_{x}\left(-\frac{\partial^{2} u}{\partial t^{2}}-2 \frac{\partial u}{\partial t}+u\right)  \tag{9}\\
\left(p^{2}-1\right) \mathcal{L}_{x}(u)=p e^{-2 t}+e^{-2 t}+\mathcal{L}_{x}\left(-\frac{\partial^{2} u}{\partial t^{2}}-2 \frac{\partial u}{\partial t}\right) \tag{10}
\end{gather*}
$$

Using the decomposition series for the linear term $u(t, x)$ gives

$$
\begin{equation*}
\left(p^{2}-1\right) \sum_{n \geq 0} \mathcal{L}_{x}\left(u_{n}\right)=p e^{-2 t}+e^{-2 t}+\sum_{n \geq 0} \mathcal{L}_{x}\left(-\frac{\partial^{2} u_{n}}{\partial t^{2}}-2 \frac{\partial u_{n}}{\partial t}\right) \tag{11}
\end{equation*}
$$

We deduce the following Laplace-Adomian algorithm

$$
\left\{\begin{array}{l}
\left(p^{2}-1\right) \mathcal{L}_{x}\left(u_{0}\right)=p e^{-2 t}+e^{-2 t}  \tag{12}\\
\left(p^{2}-1\right) \mathcal{L}_{x}\left(u_{n+1}\right)=\mathcal{L}_{x}\left(R u_{n}\right) ; n \geq 0
\end{array}\right.
$$

We obtain

$$
\left\{\begin{array}{l}
u_{0}(t, x)=\mathcal{L}_{x}^{-1}\left[\frac{1}{\left(p^{2}-1\right)}\left(p e^{-2 t}+e^{-2 t}\right)\right] \\
u_{n+1}(t, x)=\mathcal{L}_{x}^{-1}\left[\frac{1}{\left(p^{2}-1\right)} \mathcal{L}_{x}\left(R u_{n}\right)\right] ; n \geq 0
\end{array}\right.
$$

Determinate $u_{n}(t, x)$, for $n \geq 0$
$u_{0}(t, x)=\mathcal{L}_{x}^{-1}\left[\frac{1}{\left(p^{2}-1\right)}(p+1) e^{-2 t}\right]$
$\Rightarrow u_{0}(t, x)=\mathcal{L}_{x}^{-1}\left[\frac{1}{(p-1)} e^{-2 t}\right]$
$\Rightarrow u_{0}(t, x)=e^{x-2 t}$
$u_{1}(t, x)=\mathcal{L}_{t}^{-1}\left[\frac{1}{\left(p^{2}-1\right)} \mathcal{L}_{t}\left(R\left(u_{0}\right)\right)\right]$
$\Rightarrow u_{1}(t, x)=\mathcal{L}_{t}^{-1}\left[\frac{1}{\left(p^{2}-1\right)}\left(-4 e^{x-2 t}+4 e^{x-2 t}\right)\right]$
$\Rightarrow u_{1}(t, x)=0$
$u_{2}(t, x)=\mathcal{L}_{t}^{-1}\left[\frac{1}{\left(p^{2}-1\right)} \mathcal{L}_{t}\left(R\left(u_{1}\right)\right)\right]$
$\Rightarrow u_{2}(t, x)=0$

In recursive way, we deduce

$$
u_{n}(t, x)=0 \text { for all } n \geq 1
$$

Then

$$
u(t, x)=\sum_{n \geq 0} u_{n}(t, x)=e^{x-2 t}
$$

The exact solution of model is

$$
u(t, x)=e^{x-2 t}
$$

### 4.2 Example : wave equation of microstrip antenna

In this example, we study the standard linear telegraph equation is given as $[7,8,9,10,4]$

$$
\begin{cases}\frac{\partial^{2} u}{\partial x^{2}} & =\frac{\partial^{2} u}{\partial t^{2}}+4 \frac{\partial u}{\partial t}+4 u \\ \frac{\partial u}{\partial t}(0, x) & =-2 \\ u(0, x) & =1+e^{2 x}\end{cases}
$$

Taking $L u=\frac{\partial^{2} u}{\partial t^{2}}, R u=\frac{\partial^{2} u}{\partial x^{2}}-4 \frac{\partial u}{\partial t}-4 u$.
Where $L$ is an invertible operator in the Adomian sense and $R$ the linear remainder.
Applying the laplace transform to the equation (2), we obtain :

$$
\begin{equation*}
\mathcal{L}_{t}(L u)=\mathcal{L}_{t}(R u) \Leftrightarrow p^{2} \mathcal{L}_{t}(u)-p u(0, x)-\frac{\partial u}{\partial x}(0, x)=\mathcal{L}_{t}\left(\frac{\partial^{2} u}{\partial x^{2}}-4 \frac{\partial u}{\partial t}-4 u\right) \tag{13}
\end{equation*}
$$

$$
\begin{equation*}
p^{2} \mathcal{L}_{x}(u)=p\left(1+e^{2 x}\right)-2+\mathcal{L}_{x}\left(\frac{\partial^{2} u}{\partial x^{2}}-4 \frac{\partial u}{\partial t}-4 u\right) \tag{14}
\end{equation*}
$$

Using the decomposition series for the linear term $u(t, x)$ gives

$$
\begin{align*}
& p^{2} \sum_{n \geq 0} \mathcal{L}_{x}\left(u_{n}\right)=p-2+p e^{2 x}+\sum_{n \geq 0} \mathcal{L}_{x}\left(\frac{\partial^{2} u_{n}}{\partial x^{2}}-4 \frac{\partial u_{n}}{\partial t}-4 u\right)  \tag{15}\\
& p^{2} \sum_{n \geq 0} \mathcal{L}_{x}\left(u_{n}\right)=p-2+p e^{2 x}+\sum_{n \geq 0} \mathcal{L}_{x}\left(\frac{\partial^{2} u_{n}}{\partial x^{2}}-4 \frac{\partial u_{n}}{\partial t}-4 u\right) \tag{16}
\end{align*}
$$

We deduce the following Laplace-Adomian algorithm

$$
\left\{\begin{array}{l}
p^{2} \mathcal{L}_{x}\left(u_{0}\right)=p-2+p e^{2 x}  \tag{17}\\
p^{2} \mathcal{L}_{x}\left(u_{n+1}\right)=\mathcal{L}_{x}\left(R u_{n}\right) ; n \geq 0
\end{array}\right.
$$

We obtain

$$
\left\{\begin{array}{l}
u_{0}(t, x)=\mathcal{L}_{x}^{-1}\left[\frac{1}{p^{2}}\left(p-2+p e^{2 x}\right)\right] \\
u_{n+1}(t, x)=\mathcal{L}_{x}^{-1}\left[\frac{1}{p^{2}} \mathcal{L}_{x}\left(R u_{n}\right)\right] ; n \geq 0
\end{array}\right.
$$

Determinate $u_{n}(t, x)$, for $n \geq 0$

$$
\begin{aligned}
& u_{0}(t, x)=\mathcal{L}_{t}^{-1}\left[\frac{1}{p^{2}}\left(p-2+p e^{2 x}\right)\right] \\
& \Rightarrow u_{0}(t, x)=\mathcal{L}_{t}^{-1}\left[\frac{1}{p}\left(1+e^{2 x}\right)-\frac{2}{p^{2}}\right] \\
& \Rightarrow u_{0}(t, x)=e^{2 x}-2 t+1
\end{aligned}
$$

$$
u_{1}(t, x)=\mathcal{L}_{t}^{-1}\left[\frac{1}{p^{2}} \mathcal{L}_{t}\left(R\left(u_{0}\right)\right)\right]
$$

$$
\Rightarrow u_{1}(t, x)=\mathcal{L}_{t}^{-1}\left[\frac{1}{p^{2}}\left[\mathcal{L}_{t}(-8 t+4)\right]\right]
$$

$$
\Rightarrow u_{1}(t, x)=\mathcal{L}_{t}^{-1}\left(-\frac{8}{p^{4}}+\frac{4}{p^{3}}\right)=-\frac{8 t^{3}}{3!}+\frac{4 t}{2!}
$$

$$
\Rightarrow u_{1}(t, x)=-\frac{(2 t)^{3}}{3!}+\frac{(2 t)^{2}}{2!}
$$

$$
\left.\begin{array}{l}
u_{2}(t, x)=\mathcal{L}_{t}^{-1}\left[\frac{1}{p^{2}} \mathcal{L}_{t}\left(R\left(u_{1}\right)\right)\right] \\
\Rightarrow u_{2}(t, x)=\mathcal{L}_{t}^{-1}\left[\frac{1}{p^{2}}\left[\mathcal{L}_{t}\left(-16 t-24 t^{2}-32 \frac{t^{3}}{3!}\right)\right]\right] \\
\Rightarrow u_{2}(t, x)=\mathcal{L}_{t}^{-1}\left(-16 \frac{1}{p^{4}}-48 \frac{1}{p^{5}}-32 \frac{1}{p^{6}}\right) \\
\Rightarrow u_{2}(t, x)=-2 \frac{(2 t)^{3}}{3!}-3 \frac{(2 t)^{4}}{4!}-\frac{(2 t)^{5}}{5!} \\
u_{3}(t, x)=\mathcal{L}_{t}^{-1}\left[\frac{1}{p^{2}} \mathcal{L}_{t}\left(R\left(u_{2}\right)\right)\right] \\
\Rightarrow u_{3}(t, x)=\mathcal{L}_{t}^{-1}\left[\frac{1}{p^{2}}\left[\mathcal{L}_{t}\left(2^{6} \frac{t^{2}}{2!}+2^{8} \frac{t^{3}}{3!}+10 \times 2^{5} \frac{t^{4}}{4!}+2^{7} \frac{t^{5}}{5!}\right)\right]\right] \\
\Rightarrow u_{3}(t, x)=\mathcal{L}_{t}^{-1}\left(2^{6} \frac{1}{p^{5}}+2^{8} \frac{1}{p^{6}}+5 \times 2^{6} \frac{1}{p^{7}}+2^{7} \frac{1}{p^{8}}\right) \\
\Rightarrow u_{3}(t, x)=4 \frac{(2 t)^{4}}{4!}+8 \frac{(2 t)^{5}}{5!}+5 \frac{(2 t)^{6}}{6!}+\frac{(2 t)^{7}}{7!} \\
u_{4}(t, x)=\mathcal{L}_{t}^{-1}\left[\frac{1}{p^{2}} \mathcal{L}_{t}\left(R\left(u_{3}\right)\right)\right] \\
\Rightarrow u_{4}(t, x)=\mathcal{L}_{t}^{-1}\left[\frac{1}{p^{2}}\left[\mathcal{L}_{t}\left(-\frac{32}{315} t^{7}-\frac{112}{45} t^{6}-\frac{96}{5} t^{5}-\frac{160}{3} t^{4}-\frac{128}{3} t^{3}\right)\right]\right] \\
\Rightarrow u_{4}(t, x)=-8 \frac{(2 t)^{5}}{5!}-20 \frac{(2 t)^{6}}{6!}-18 \frac{(2 t)^{7}}{7!}-7 \frac{(2 t)^{8}}{8!}-\frac{(2 t)^{9}}{9!} \\
\Rightarrow u_{4}(t, x)=\mathcal{L}_{t}^{-1}\left[\frac{1}{p^{2}}\left[\mathcal{L}_{t}\left(-2^{8} \frac{t^{3}}{3!}-5 \times 2^{8} \frac{t^{4}}{4!}-9 \times 2^{8^{5}} \frac{5}{5!}-7 \times 2^{8} \frac{t^{6}}{6!}-2^{9} \frac{t^{7}}{7!}\right)\right]\right] \\
\Rightarrow u_{4}(t, x)=\mathcal{L}_{t}^{-1}\left(-2^{8} \frac{1}{p^{6}}-5 \times 2^{8} \frac{1}{p^{7}}-9 \times 2^{8} \frac{1}{p^{8}}-7 \times 2^{8} \frac{1}{p^{9}}-2^{9} \frac{1}{p^{10}}\right) \\
\Rightarrow
\end{array}\right]
$$

Step by step, we deduce

$$
\sum_{n \geq 0} u_{n}(t, x)=e^{2 x}+\sum_{n \geq 0} \frac{(-2 t)^{k}}{n!}
$$

Then

$$
u(t, x)=\sum_{n \geq 0} u_{n}(t, x)=e^{2 x}+e^{-2 t}
$$

The exact solution of model is

$$
u(t, x)=e^{2 x}+e^{-2 t}
$$

## 5 Conclusion

Laplace's Adomian numerical method allowed us to solve some linear partial differential equations by modelling the standard telegraph equation. It is therefore a very powerful numerical analysis tool to solve this type of problem, this method accelerates convergence to the solution. Our study was limited to the linear models of telegraph non-homogeneous reaction, a study of these models in non-homogeneous cases would be an important contribution to the understanding of these models.

## Competing Interests

Authors have declared that no competing interests exist.

## References

[1] Vineet K. Srivastava, Mukesh K. Awasthi, Chaurasia RK, Tamsir M. The telegraph equation and its solution by reduced differential transform method. Hindawi Publishing Corporation. 2013;2013:1-6. DOI: http://dx.doi.org/10.1155/2013/746351
[2] Wazwaz AM. Partial differential equations and applications. Netherland Balkema Publisher; 2002.
[3] Faiz Muhammad Khan, Amjad Ali, Abdullah, Kamal Shah, Aziz Khan, Ibrahim Mahariq. Analytical approximation of Brusselator model via LADM. Mathematical Problems in Engineering; 2022.
[4] Abdul Rahman Farhan Sabdin, Che Haziqah Che Hussin, Arif Mandangan, Graygorry Brayone Ekal, Jumat Sulaiman. Approximate analytical solutions for non-linear telegraph equations with source term. 2023;31(3):238-248.
[5] Youssouf Paré, Youssouf Minoungou, Abdoul Wassiha Nébié. Resolution of nonlinear convection - diffusion - reaction equations of Cauchy's kind by the Laplace SBA method. EJPAM. 2019;12(3):742-760.
[6] Pare Y, Saley B, Some B, So Ousseini, Abbo Bakari. A numerical method for solving Cauchy evolution problem of partial differential equations (PDEs) for several variables. Int. J. Numer. Methods Appl. 2009;1(1):87-100.
[7] Chaurasia RK, Ranjan Mishra, Raj Gaurav Mishra, Deepak Kumar, Amit Kumar Shrivastava. Numerical modelling and solution of microstrip antenna by using caupto time fraction RDT method. IJSTR. 2019;8(08):135-138.
[8] Abbaoui K, Yves Cherruault. Convergence of the Adomian method applied to the nonlinear equations. Math. Comput. Modelling. 1994;20(9):60-73.
[9] Kamate Adama, Bationo Jeremie Yiyureboula, Djibet Mbaiguesse, Youssouf Pare. Analytical solutions of classical and fractional navier-stokes equations by the SBA method. Journal of Mathematics Research. 2022;14(4):20-32.
[10] Bagayogo Moussa, Pare Youssouf, Minoungou Youssouf. An approached solution of wave equation with cubic damping by homotopy perturbation method (HPM), Regular Pertubation Method (RPM) and Adomian Decomposition Method (ADM). Journal of Mathematics Research (JMR). 2018;10(2):166-181.

[^1][^2]
[^0]:    *Corresponding author: E-mail: youssouf.minoungou@yahoo.com;
    J. Adv. Math. Com. Sci., vol. 39, no. 2, pp. 63-71, 2024

[^1]:    (C) 2024 Youssouf et al.; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution and reproduction in any medium, provided the original work is properly cited.

[^2]:    Peer-review history:
    The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)
    http://www.sdiarticle5.com/review-history/111877

